e e —

7 /2 b
o = e, =
fV?) 3 e [}) _3 S
it ~73/<?: /2—_9: L

DR E TR e i e L A

S oxt9= x —6x+9 P X IR ED SRR -0 T

2406677 |

'—'>X/:O XZ:.:g
/ %
:ﬁj CoS ex = ‘é{ :> ZXZjZ“&ZCME = e d=
s K €
X= ‘é'\g—~i—ﬁ/( Z

L/) Zajfafs_(x‘-Z) > g)fo,r g L PIDZ: X220 X532

g (KDY o= log, 9 D Gog, () S 2 x2S D
C g et C N < XS 8

)T/...%‘Z*?ﬁk

X <6
X=3;4;5,6

| 5) j:\m "‘XZ*%(fVS“k/O =

= X~ 9% -¥s So :>;(><‘—3)(X~+5) i

= [ Se e
S =
) F P e
E o (73373(‘()( T ~6% =0

SE o o

j/: x - F Z{jd:/f/(//:‘é—.

7/) 7: Z*?)( f/(/)
g) /@9076 /M = v &M%MW&G‘U / (T/LZ/Z&M//&M
z=(P= Vit
fLoctosbly T ply 2ots picett — g /woﬂ//o/#m/ , T /
el W e e e
P 0T - e e s V3
4 % _i sl 01/77494 (:,{U/ﬂ-ﬁéﬂ.ﬁ ﬁ%%w W{/‘M

*2'356 MJ)JM{:S‘”C/"A:-: 3‘53:54



Ae= 8 eshA=o,8
G
| /b A
”lz/—*&rfz/f = \(/—c?,.é? o,
ceS A ‘ 57/1“ o, g oy Ei;
Vi
Sk il V= f//’; Wk g aa W =



